12AERAHVTRRIER

Erk23%F1287H OKER)
NEGL | NBE 44 K4 IN OUT | GROSS| HDCP | NET

& B |%EF = 35 38 73 6 67
olemy |[EAK UAF 38 44 82 14.4 67.6
3 R —% 39 42 81 13.2 67.8
4 AR EE 32 42 74 6 68
5 AME Z— 39 41 80 12 68
6 Fig E 35 37 72 3.6 68.4
7 AH —ER 37 34 71 2.4 68.6
8 =Y A 37 33 70 1.2 68.8
9 AL BIE 35 35 70 1.2 68.8
10 H R 37 39 76 7.2 68.8
11 R E17 42 42 84 14.4 69.6
12 AmEinE T 41 36 77 7.2 69.8
13 RE SFE 37 46 83 13.2 69.8
14 T = 39 42 81 10.8 70.2
15 BH BX 41 45 86 15.6 70.4
16 Zith E— 38 41 79 8.4 70.6
17 &0 #;\x 43 41 84 13.2 70.8
18 RE {#8E 41 36 77 6 71
19 EIE 46 43 89 18 71
20 ERX BX 48 40 88 16.8 71.2
21 f5H BA 43 44 87 15.6 71.4
22 Hih NF 45 41 86 14.4 71.6
23 HZir 83 37 35 72 0 72
24 B B3 42 42 84 12 72
25 ki T 43 40 83 10.8 72.2
26 Al BEF 43 40 83 10.8 72.2
27 A = 40 42 82 9.6 72.4
28 AR 3K 41 41 82 9.6 72.4
29 A& F—ER 46 41 87 14.4 72.6
30 A F# 46 40 86 13.2 72.8
31 BEZE X 50 42 92 19.2 72.8
32 HE F# 49 43 92 19.2 72.8
33 AH E=EH 38 41 79 6 73
34 Hif BX 41 44 85 12 73
35 ME B 44 47 91 18 73
36 KE Flz 39 39 78 4.8 73.2
37 Bih &EX 40 43 83 9.6 73.4
38 R %E 37 39 76 2.4 73.6




39 XA B 40 42 82 8.4 73.6
40 EE & 42 46 88 14.4 73.6
41 e BAE 47 41 88 14.4 73.6
42 LEES A= 44 44 88 14.4 73.6
43 BA EER 44 43 87 13.2 73.8
44 =g EXth 45 41 86 12 74
45 AR FH 49 43 92 18 74
46 X BiT 51 47 98 24 74
47 R IN— 53 51 104 30 74
48 FE #- 44 53 97 22.8 74.2
49 B EBR 41 43 84 9.6 74.4
50 =H 2 47 43 90 15.6 74.4
51 o BhIE 43 46 89 14.4 74.6
52 Al EF 48 41 89 14.4 74.6
53 xH E— 46 49 95 20.4 74.6
54 ol Bt 53 53 106 31.2 74.8
55 2 46 47 93 18 75
56 =l 50 49 99 24 75
57 £ZF BS 43 43 86 10.8 75.2
58 xH BF 47 45 92 16.8 75.2
59 =S IE 55 52 107 31.2 75.8
60 £ Mt 42 52 94 18 76
61 M R— 53 46 99 22.8 76.2
62 B T 47 44 91 14.4 76.6
63 Eith =5 46 50 96 19.2 76.8
64 EE F— 57 50 107 30 77
65 WEH EES 43 45 88 10.8 77.2
66 Al Bz 53 52 105 26.4 78.6
67 Eh = 48 55 103 24 79
68 iz E— 48 51 99 19.2 79.8
69/BB {RE TER 57 47 104 24 80
70 A B— 56 52 108 26.4 81.6




